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SECTION – A

Question ID : 100201

Set & Relations

1. Let R be a relation from the set {1, 2, 3 ......., 60} to itself such that R = {(a, b) : b = pq, where p, q  3 are

prime numbers.}. Then, the number of elements in R is :

ekuk leqPp; S ={1, 2, 3 ......., 60} gSaA ekuk S ls S esa ,d laca/k R,  R = {(a, b) : b = pq, tgk¡ p, q  3 vHkkT;

la[;k,¡ gSa} gSA rks R  esa vo;oksa dh la[;k gS :

(1) 600 (2) 660 (3) 540 (4) 720

Ans. Official Answer NTA (2)

Sol. Number of possible values of a = 60, for b = pq,

If p = 3, q = 3, 5, 7, 11, 13, 17, 19

If p = 5 q = 5, 7, 11

If p = 7 q = 7

Total cases = 60 × 11 = 660

Question ID : 100202

Complex number

2. If z = 2 + 3i, then   
5

z z   is equal to :

;fn z = 2 + 3i gS, rks  
5

z z   cjkcj gS :

(1) 244 (2) 224 (3) 245 (4) 265

Ans. Official Answer NTA (1)

Sol.      
5 5 55z z 2 3i 2 3i    

    2 45 5 5 3 5 1
0 2 42 C 2 C 2 3i C 2 3i  

= 2 (32 + 10 × 8 (– 9) + 5 × 2 × 81) = 244

Question ID : 100203

Matrices

3. Let A and B be two 3 × 3 non-zero real matrices such that AB is a zero matrix. Then ;

(1) The system of linear equations AX = 0 has a unique solution

(2) The system of linear equations AX = 0 has infinitely many solution

(3) B is an invertible matrix
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(4) adj(A) is an invertible matrix

ekuk A rFkk B, 3 × 3 ds nks v'kwU; okLrfod vkO;wg gSa ftlds fy, AB ,d 'kwU; vkO;wg gSA rks ;

(1) jSf[kd lehdj.k fudk; AX = 0 dk vf}rh; gy gS

(2) jSf[kd lehdj.k fudk; AX = 0 ds vuar gy gSa

(3) B ,d O;qRØe.kh; vkO;wg gS

(4) adj(A) ,d O;qRØe.kh; vkO;wg gS

Ans. Official Answer NTA (2)

Sol. AB 0 | AB | 0  

If | A | 0,B 0   (not possible)

If | B | 0, A 0   (not possible)

Hence |A| = |B| = 0

 AX = 0 has infinitely many solutions

Question ID : 100204

Sequence & progression

4. If            
1 1 1 1

....
20 a 40 a 40 a 60 a 180 a 60 a 256

   
      , then the maximum value of a is :

;fn            
1 1 1 1

....
20 a 40 a 40 a 60 a 180 a 60 a 256

   
      gS, rks a dk vf/kdre eku gS :

(1) 198 (2) 202 (3) 212 (4) 218

Ans. Official Answer NTA (3)

Sol.
1 1 1 1 1 1 1

....
20 20 a 40 a 40 a 60 a 180 a 200 a

      
                      

1 1 1 1

20 20 a 200 a 256

 
   

  

(20 – a) (200 – a) = 256 × 9
a2 – 220a + 1696 = 0
a = 8, 212

Hence maximum value of a is 212.

Question ID : 100205

Limit
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5. If 
x x

2x 0

e e sin x 2
lim

x sin x 3





   
 , where , R, then which of the following is NOT correct?

;fn 
x x

2x 0

e e sin x 2
lim

x sin x 3





   
  gS, tgk¡ , R gSa, rks fuEu esa ls dkSu lk lgh ugha gS ?

(1) 2 + 2 + 2 = 6 (2)  +  +  + 1 = 0

(3) 2 + 2 + 2 + 3 = 6 (4) 2 – 2 + 2 = 4

Ans. Official Answer NTA (3)

Sol.

2 3 2 3 3

3x 0

x x x x x
1 x 1 x ... x ...

2! 3! 2! 3! 3!
lim

x

     
                 
     

constant terms should be zero
  +  = 0
coeff of x should be zero
  –  +  = 0

coeff of x2 should be zero

3 4

3x 0

x x
23! 3! 3! 3! 3! 3!

lim
x 3

        
       

    

0
2 2

 
  

2 / 3
6 6 6

  
  

1, 1, 2        

Question ID : 100206

Definite Integration

6. The integral 
2

0

1
dx

3 2sin x cos x



   is equal to :

lekdyu 
2

0

1
dx

3 2sin x cos x



  cjkcj gS :

(1) tan–1(2) (2)   1tan 2
4

 


(3)   11
tan 2

2 8
 

 (4) 
1

2
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Ans. Official Answer NTA (2)

Sol.

2
2 2

0 0 2

x
sec .dx

dx 2I
x x3 2sin x cos x 2 tan 4 tan 4
2 2

 

   
   

Put 
x

tan t,
2
  so

 
 

1
11 1

2 00

dt
I tan x 1 tan 2

4t 1 1

  
     

 

Question ID : 100207

Differential Equation

7. Let the solution curve y = y(x) of the differential equation  2x dy
1 e y 1

dx

 
   

 
 pass through the point  0,

2

 
 
 

.

Then,   x

x
lim e y x


 is equal to :

ekuk vody lehdj.k  2x dy
1 e y 1

dx

 
   

 
 dk gy oØ y = y(x),  0,

2

 
 
 

 ls gksdj tkrk gSA rks  x

x
lim e y x


cjkcj gS :

(1) 
4


(2) 

3

4


(3) 

2


(4) 

3

2



Ans. Official Answer NTA (2)

Sol. 2x

dy 1
y

dx 1 e
 



So integrating factor is  1.dx xe e 

So solution is   x 1 xy.e tan e c 

Now as curve is passing through  0,
2

 
 
 

 so

c
4


 

   x 1 x

x x

3
lim y.e lim tan e

4 4


 

  
    

 

Question ID : 100208

Ellipse

8. Let a  line L pass  through  the point of  intersection of  the  lines bx + 10y – 8 = 0 and 2x – 3y = 0,
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b  R – 
4

3

 
 
 

. If the line L also passes through the point (1,1) and touches the circle 17(x2 + y2) = 16, then the

eccentricity of all ellipse 
2 2

2

x y
1

5 b
   is :

eku k ,d j s[ k k L,  j s[ k kvk s a  bx  +  10y  –  8  =  0  rFk k   2x  –  3y  =  0,

b  R – 
4

3

 
 
 

 ds izfrPNsnu fcUnq ls gksdj tkrh gSA ;fn js[kk L, fcUnq  (1,1) ls Hkh gksdj tkrh gS rFkk oÙ̀k 17(x2

+ y2) = 16 dks Li'kZ djrh gS] rks nh?kZo`Ùk 
2 2

2

x y
1

5 b
   dh mRdsUnzrk gS  :

(1) 
2

5
(2)  3

5
(3) 

1

5
(4) 

2

5

Ans. Official Answer NTA (2)

Sol. Line is passing through intersection of

bx +10 y – 8 = 0 and 2x – 3y = 0 is

(bx + 10y – 8) +  (2x – 3y) = 0 . As line is

passing through (1, 1) so  = b + 2

Now line (3b + 4) x – (3b – 4) y – 8 = 0 is

tangent to circle 17(x2 + y2 ) = 16

So 
   

2 2

8 4

173b 4 3b 4


  

2 3
b 2 e

5
   

Question ID : 100209

3D Geometry

9. If the foot of the perpendicular from the point A(–1, 4, 3) on the plane P : 2x + my + nz = 4, is 
7 3

2, ,
2 2

 
 

 
, then

the  distance  of  the  point A  from  the  plane  P,  measured  parallel  to  a  line  with  direction  ratios
3, –1, –4, is equal to :

;fn fcUnq A(–1, 4, 3) ls lery P : 2x + my + nz = 4, ij yac dk ikn 
7 3

2, ,
2 2

 
 

 
gS,  rks fnd~ vuqikr

3, –1, –4 dh ,d js[kk ds lekarj ukih xbZ fcUnq A dh lery P ls nwjh cjkcj gS :



Question Paper With Text Solution (Mathematics)
JEE Main July 2022 | 29 July  Shift-1

Page No. 7

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

(1) 1 (2)  26 (3) 2 2 (4)  14

Ans. Official Answer NTA (2)

Sol.

Let B be foot of  coordinates of 
7 3

B 2, ,
2 2

 
  
 

Direction ratio of line AB is <2,1,3> so
m = 1, n = 3

So equation of AC is 
x 1 y 4 z 3

3 1 4

  
   

 

So point C is  3 1, 4, 4 3       . But C lies on the plane, so

6 2 4 12 9 4       

 1 C 2,3, 1   

AC 26 

Question ID : 100210

Vectors

10. Let  ˆ ˆa 3i j 


  and  ˆ ˆ ˆb i 2 j k  


.  Let  c


  be  a  vector  satisfying   a b c b c   
   

.  If  b


  and  c


  are

non-parallel, then the value of  is :

ekuk ˆ ˆa 3i j 


 rFkk ˆ ˆ ˆb i 2 j k  


gSA ekuk ,d lfn'k c


  ds fy,  a b c b c   
   

 gSA ;fn b


 rFkk  c


lekarj ugha gSa] rks  dk eku gS :

(1) –5 (2) 5 (3) 1 (4) –1

Ans. Official Answer NTA (1)

Sol. a 3i j,b i 2 j k    
 
   

As   a b c b c    
    

   a.c b a.b c b c   
       

a.c 1,a.b   
   

   3i j . i 2 j k        

5  
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Question ID : 100211

Heights & Distances

11. The angle of elevation of the top of a tower from a point A due north of it is  and from a point B at a distance

of 9 units due west of A is 
1 3

cos
13

  
 
 

. If the distance of the point B from the tower is 15 units, then cot  is

equal to :

,d Vkoj ds f'k[kj dk] Vkoj ds mÙkj dh vksj ,d fcUnq A ls mUUk;u dks.k  gS rFkk A ls if'pe dh vksj 9

bdkbZ nwjh ij ,d fcUnq B ls mUUk;u dks.k 1 3
cos

13

  
 
 

 gSA ;fn Vkoj ls fcUnq dh nwjh 15 bdkbZ gS] rks cot

 cjkcj gS :

(1) 
6

5
(2) 

9

5
(3) 

4

3
(4) 

7

3

Ans. Official Answer NTA (1)

Sol.

given OB = 15

3
cos

13
 

2
tan

3
 
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h
tan

15
 

2 h

3 15


10 = h

OA2 + AB2 = 225
OA2 + 81 = 225
OA = 12

10
tan

12
 

12 6
cot

10 5
  

Question ID : 100212

Mathematical Reasoning

12. The statement (p  q)  (p  r) is equivalent to :

dFku (p  q)  (p  r) fdlds rqY; gS :

(1) q  (p  r) (2) p  (p  r) (3) (p  r)  (p  q) (4) (p  q)  r

Ans. Official Answer NTA (4)

Sol.    p q p r  

   p q p r  

   p q p r   

  p p r q   
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   p p p r q     

 p r q  

 p q r  

 p q r 

 p q r 

Question ID : 100213

Straight Line

13. Let the circumcentre of a triangle with vertices A(a, 3), B(b, 5) and C(a, b), ab > 0 be P(1, 1). If the line AP

intersects the line BC at the point Q(k
1
, k

2
), then k

1
 + k

2
 is equal to :

ekuk ,d f=kHkqt] ftlds 'kh"kZ A(a, 3), B(b, 5) rFkk C(a, b), ab > 0 gSa] dk ifjdsUnz P(1, 1) gSA ;fn js[kk AP,

js[kk BC dks fcUnq Q(k
1
, k

2
) ij dkVrh gS] rks k

1
 + k

2
 cjkcj gS :

(1) 2 (2) 
4

7
(3) 

2

7
(4) 4

Ans. Official Answer NTA (2)

Sol.

ACm 

PDm 0

a a b 3
D ,

2 2

  
 
 

b 3
D a,

2

 
 
 

m
PD

 = 0

b 3
1 0

2


 

b + 3 – 2 = 0

b = – 1
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b a 5 b af
E , , 2

2 2 2

    
   

   

m
CB

 . m
EP

 = – 1

5 b 2
1

b a a 3

   
     

    

6 2
1

1 a a 3

   
     

     

12 = (1 + a) (a – 3)
12 = a2 – 3a + a – 3
 a2 – 2a – 15 = 0
(a – 5) (a + 3) = 0
a = 5 or a = –3
Given ab > 0
a(–1) > 0
–a > 0
a < 0
a = –3 Accept
AP line A (–3, 3) P(1, 1)

 
3 1

y 1 x 1
3 1

 
   

  

 x + 2y = 3 Appling .....(1)
Line BC B(–1, 5)

C(–3, –1)

   
6

y 5 x 1
2

  

y – 5 = 3x + 3
y = 3x + 8              .....(2)
Solving (1) & (2)
x + 2 (3x + 8) = 3
 7x + 16 = 3
7x = –13

13
x

7
 

13
y 3 8

7

 
   

 

39 56

7

 




Question Paper With Text Solution (Mathematics)
JEE Main July 2022 | 29 July  Shift-1

Page No. 12

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

17
y

7


13 17 4
x y

7 7

 
  

Question ID : 100214

Vectors

14. Let â  and b̂  be two unit vectors such that the angle between them is 
4


. If  is the angle between the vectors

 ˆâ b  and    ˆ ˆˆ ˆa 2b 2 a b   , then the value of 164 cos2 is equal to :

ekuk nks bdkbZ lfn'kksa â  rFkk  b̂  ds chp dk dks.k  
4


 gSA ;fn lfn'kksa  ˆâ b  rFkk    ˆ ˆˆ ˆa 2b 2 a b    ds chp

dk dks.k gS] rks 164 cos2 dk eku cjkcj gS :

(1) 90 + 27 2 (2) 45 + 18 2 (3) 90 + 3 2 (4) 54 + 90 2

Ans. Official Answer NTA (1)

Sol. ˆâ b
4

 
  

ˆˆ ˆa b | a || b | cos  

1ˆâ b cos
2

   

ˆ ˆ ˆˆ ˆ ˆ(a b) (a 2b 2(a b))
cos

ˆ ˆ ˆˆ ˆ ˆ| a b || a 2b 2(a b) |

    
 

   

2ˆ ˆ ˆˆ ˆ ˆ| a b | (a b) (a b)    

2ˆ ˆˆ ˆ| a b | 2 2a b   

2 2 

ˆ ˆˆ ˆ ˆa b | a || b | sin n  


n

2
 a b  when  n  is vector  a   and  b

let  ˆˆc a b 


We know.

c a 0 
 

c b 0 


2ˆˆ| a 2b 2c | 

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(4) ˆ ˆˆ ˆ1 4 4a b 8b c 4c a
2

        
 

4
7 7 2 2

2
   

Now

ˆ ˆˆ ˆ(a b) (a 2b 2c)   


2 2ˆ ˆ ˆˆ ˆ ˆ| a | 2a b 0 b a 2 | b | 0       

2 1
1 2

2 2
   

3
3

2
 

3
3

2cos
2 2 7 2 2



 
 

2
2 9( 2 1)

cos
2(2 2)(7 2 2)


 

 

2 9 ( 2 1)
cos

2 2 (7 2 2)

 
   

 

2 (82)(9) ( 2 1) (7 2 2)
164cos

2 (7 2 2) (7 2 2)

 
 

 

(82) (9)[7 2 4 7 2 2]

(41)2

  


(9 2)[5 2 3] 

90 27 2 

Question ID : 100215

Definite Integration

15. If    10

1

log t
f dt

1 t



 
 ,  > 0, then f(e3) + f(e–3) is equal to :

;fn   10

1

log t
f dt

1 t



 
 , > 0 gS, rks f(e3) + f(e–3) cjkcj gS :
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(1) 9 (2) 
9

2
(3) 

 e

9

log 10
(4) 

 e

9

2log 10

Ans. Official Answer NTA (4)

Sol.  
3e

3

1

nt
f e dt

n10(1 t)






........(1)

1

nt
f ( ) dt

( n10)(1 t)



 






1 1
t x

x t
  

2

1
dt dx

x




1

21

nx 1
dx

1 x
( n10) 1

x


  

  
    
 






1

1

1 nx
f ( ) dx

n10 x(x 1)
 






 
3e

3

1

1 nt
f e dt

n10 t(t 1)
 





........(2)

Add (1) & (2)

   3 3e f e

3e

1

1 nt 1
1 dt

n10 (1 t) t

   
       






3

1

1 ln t
dt

n10 t

 
  
 



nt r

dt
dr

t


3

0

1
rdr

n10
 

3
2

0

1 r

n10 2

  
   
  

1 9

log10 2

  
   

  
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e

9

2log 10


Question ID : 100216

Area Under Curve

16. The area of the region    2x, y : x 1 y 5 x     is equal to :

{ks=k    2x, y : x 1 y 5 x     dk {ks=kQy cjkcj gS :

(1) 
15 3 1

sin
2 5 2

  
 

 
(2) 

5 3

4 2


 (3) 

3 3

4 2


 (4) 

5 1

4 2




Ans. Official Answer NTA (4)

Sol.

2| x 1| y 5 x   

When  2| x 1| 5 x  

2 2(x 1) 5 x   

2x x 2 0   

x 2, 1  

Required Area = Area of ABC + Area of region BCD

2 2

1 0 1
1 1

2 1 1 ( 5) ( 5)
2 4 2

1 2 1


  



5 1

4 2


 

Question ID : 100217

Hyperbola

17. Let the focal chord of the parabola P : y2 = 4x along the line L : y = mx + c, m > 0 meet the parabola at the

points M and N. Let the line L be a tangent to the hyperbola H : x2 – y2 = 4. If O is the vertex of P and F is the

focus of H on the positive x-axis, then the area of the quadrilateral OMFN is :
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ekuk js[kk L : y = mx + c, m > 0 ds vuqfn'k ijoy; P : y2 = 4x dh ukfHkyac thok ijoy; dks fcUnqvksa M rFkk

N ij feyrh gSA ekuk js[kk L vfrijoy; H : x2 – y2 = 4 dh ,d Li'kZ js[kk gSA ;fn P dk 'kh"kZ O gS rFkk H

dh /kukRed x-v{k ij ukfHk F gS] rks prqHkqZt OMFN dk {ks=kQy gS :

(1) 2 6 (2) 2 14 (3) 4 6 (4) 4 14

Ans. Official Answer NTA (2)

Sol.

2 2x y
H : 1

4 4
 

Focus (ae, 0)

F(2 2,0)

Line L : y = mx + c pass (1, 0)
o = m + C ........(1)

List L is tangent to Hyperbola. 
2 2x y

1
4 4
 

2 2 2C a  m   

2C 4 m 4  

From (1)

2m 4m 4   
Squaring

2 2m 4 m 4 

4 = 3m2

2
m

3
  (as m > 0)

C = – m
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2
C

3




2x 2
y

3 3
 

2y 4x

2
2x 2

4x
3

 
  

 

2x 1 2x 3x   
2x 5x 1 0   

2 3y 2
y 4

2

 
   

 

2y 2 3y 4 

2y 2 3y 4 0   

Area

1 2

1 2

0 x 2 2 x 01
||

2 0 y 0 y 0

1 2

1
2 2y 2 2y

2
    

2 1

( 2) 12 16
2 y y

111


  

56

2 14

Question ID : 100218

Continuity & Differentiability

18. The number of points, where the function f : R  R,

f(x) = |x – 1| cos |x – 2| sin|x – 1| + (x – 3)|x2 – 5x + 4|, is NOT differentiable, is :

mu fcUnqvksa dh la[;k] tgk¡ ij Qyu f : R  R,

f(x) = |x – 1| cos |x – 2| sin|x – 1| + (x – 3)|x2 – 5x + 4|, vodyuh; ugha gS] gS:

(1) 1 (2) 2 (3) 3 (4) 4

Ans. Official Answer NTA (2)

Sol. f(x) = |x – 1| cos |x – 2| sin |x – 1| + (x – 3)| x2 – 5x + 4|

= |x – 1| cos |x – 2| sin |x – 1| + (x – 3)| x – 1||x – 4|
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= |x – 1| [cos |x – 2| sin |x – 1| + (x – 3) |x – 4|]

Non differentiable at x = 1 and x = 4.

Question ID : 100219

Probability

19. Let S = {1, 2, 3, ......, 2022}. Then the probability, that a randomly chosen number n from the set S scuh that

HCF (n, 2022) = 1, is :

ekuk S = {1, 2, 3, ......, 2022} gSA rks leqPp; S ls ;kn`PN;k pquh xbZ ,d la[;k n ds fy, HCF (n, 2022)

= 1 gksus dh izkf;dkr gS :

(1) 
128

1011
(2) 

166

1011
(3) 

127

337
(4) 

112

337

Ans. Official Answer NTA (4)

Sol. Total number of elements = 2022

2022 = 2×3×337

HCF (n, 2022) = 1

is feasible when the value of 'n' and 2022 has no common factor.

A = Number which are divisible by 2 from {1,2,3.....2022}

n(A) = 1011

B = Number which are divisible by 3 by 3

from {1,2,3......2022}

n(B) = 674

A B = Number which are divisible by 6

from {1,2,3........2022}

6,12,18........., 2022

337 = n (A  B)

n(A  B) = n(A) + n(B) – n(A B)

= 1011+ 674 –337

= 1348

C= Number which divisible by 337 from {1,........1022}

Total elements which are divisible by 2 or 3 or 337

= 1348 +2 = 1350
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Favourable cases = Element which are neither divisible by 2, 3 or 337

= 2022 – 1350

= 672

Required probability = 
672 112

2022 337


Question ID : 100220

Maxima & Minima

20. Let     
3

2x 2 4
f x 3

 
 , x  R. Then which of the following statements are true?

P : x = 0 is a point of local minima of f

Q : x 2  is a point of inflection of f

R : f '  is increasing for x >  2

(1) Only P and Q (2) Only P and R

(3) Only Q and R (4) All P, Q and R

ekuk    
3

2x 2 4
f x 3

 
 , x  R gSA rks fuEu dFkuksa esa ls dkSuls lR; gS ?

P : x = 0, f dk ,d LFkkuh; fuEufu"B fcUnq gS :

Q :  x 2 ,f dk ,d ufr ifjorZu fcUnq gS

R:  x >  2  ds fy, f' o/kZeku gS

(1) dsoy P rFkk Q (2) dsoy P rFkk R

(3) dsoy Q rFkk R (4) lHkh P, Q rFkk R

Ans. Official Answer NTA (4)

Sol.  
3

2x 2
f (x) 81.3




   
3

2 2x 2 2f '(x) 81 3 ln 3 3 x 2 2x


     

   
3

2 2x 2 2(81 6)3 x x 2 ln 3


  

x = 6 is point of local min

   
3

2 2x 2 2

k g(x)

f '(x) (486 ln 3)3 x x 2


  


       
3 3

2 22x 2 x 22 2g '(x) 3 x 2 x 3 4x x 2
 

      
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     
3

22 2x 22 2x x 2 3 ln 3 3 x 2 2x


      

     
3

2 3x 2 2 2 2 2 23 x 2 x 2 4x 6x ln 3 x 2
         

     
3

2 3x 2 2 2 2 2g '(x) 3 x 2 5x 2 6x ln 3 x 2
        



f ''(x) k g (x) 

   f "( 2) 0, f 2 0, f 2 0
 

   

x 2  is point of inflection

f (x) 0   for x 2  so f ' is increasing

SECTION – B

Question ID : 100221

Trigonometric Equation

21. Let S = { (0, 2) : 7 cos2 – 3 sin2 – 2 cos22 = 2}. Then, the sum of roots of all the equations

x2 – 2(tan2 + cot2)x + 6 sin2 = 0,  S, is ___________.

ekuk S  =  {   (0,  2)  :  7  cos2  –  3  sin2  –  2  cos22  =  2}g SA lH k h lehdj.k k s a

x2 – 2(tan2 + cot2)x + 6 sin2 = 0,  S ds ewyksa dk ;ksx gS __________A

Ans. Official Answer NTA (16)

Sol. 7cos2 – 3sin2 – 2cos22 = 2

4 cos2 + 3cos2 . 2cos22 = 2

2 (1 + cos 2) + 3cos 2 – 2 cos22 = 2

2 cos22 – 5 cos2 = 0

cos2 (2cos2 – 5) = 0

cos2 = 0

 2 2n 1
2


  

 2n 1
4


  

3 5 7
S , , ,

4 4 4 4

    
  
 

For all four values of 

x2 – 2 (tan2 + cot2) x + 6 sin2 = 0
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 x2 – 4x + 3 = 0

Sum of roots of all four equations = 4 × 4 = 16.

Question ID : 100222

Statistics

22. Let the mean and the variance of 20 observations x
1
, x

2
, ....x

20
 be 15 and 9, respectively. For   R, if the

mean of (x
1
 + )2, (x

2
 + )2, ......, (x

20
 + )2 is 178, then the square of the maximum value of  is equal to

___________.

ekuk 20 izs{k.kksa x
1
, x

2
, ....x

20
 ds ek/; rFkk izlj.k 15 rFkk 9 gSaA   R ds fy,,  ;fn (x

1
 + )2, (x

2
 + )2, ......,

(x
20

 + )2 dk ek/; 178 gS, rks  ds vf/kdre eku dk oxZ cjkcj gS __________A

Ans. Official Answer NTA (4)

Sol. 1x 15 20 300   .....(i)

2
1 2

x
(15) 9

20
 


.....(ii)

2
1x 234 20 4680  

 
 

2

21

1

x
178 x 3560

20


   

 

2 2
1 1x 2 x 3560       

24680 600 20 3560    
2 30 56 0    

( 28)( 2) 0    

2, 28   

Square of maximum value of  is 4.

Question ID : 100223

3D Geometry

23. Let a line with direction ratio a, –4a, –7 be perpendicular to the lines with direction ratios 3, –1, 2b and b, a, –

2.  If  the  point  of  intersection  of  the  line 
2 2 2 2

x 1 y 2 z

a b a b 1

 
 

 
  and  the  plane  x  –  y  +  z  =  0  is

(, , ), then  +  +  is equal to ___________.

ekuk fnd~ vuqikl a, –4a, –7 dh ,d js[kk] vuqikr 3, –1, 2b rFkk b, a, –2 dh js[kkvksa ds yacor gSA ;fn js[kk

2 2 2 2

x 1 y 2 z

a b a b 1

 
 

 
rFkk lery x – y + z = 0 dk izfrPNsnu fcUnq (, , ) gS rks  +  +   cjkcj gS

___________A
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Ans. Official Answer NTA (10)

Sol. (a, –4a, –7)  to (3, –1, 2b)

a = 2b .....(i)

(a, –4a, –7)  to (b,a, –2)

3a + 4a – 14b = 0

ab – 4a2 + 14 = 0 .....(ii)

From Equations (i) and (ii)

2b2 – 16b2 + 14 = 0

b2 = 1

a2 = 4b2 = 4

x 1 y 2 z
k

5 3 1

 
  

 = 5k – 1,  = 3k + 2,  = k

As (, , ) satisfies x – y + z = 0

5k – 1 – (3k + 2) + k = 0

k = 1

  +  +  = 9k + 1 = 10

Question ID : 100224

Sequence & progression

24. Let a
1
, a

2
, a

3
, ..... be and A.P. If  r

r
r 1

a
4

2





 , then 4a
2
 is equal to ___________.

ekuk a
1
, a

2
, a

3
, ..... ,d A.P. gSA ;fn  r

r
r 1

a
4

2





  gS, rks 4a
2
 cjkcj gS _________A

Ans. Official Answer NTA (16)

Sol.
31 2

2 3

aa a
S

2 2 2
   

1 2
2 3

a aS

2 2 2
  

1
2 3

aS 1 1
d

2 2 2 2

 
    

 

1

1
aS 4d

12 2 1
2

 
 

   
 
 

 S = a
1
 + d = a

2
 = 4
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Or 4a
2
 = 16

Question ID : 100225

Binomial Theorem

25. Let the ratio of the fifth term from the beginning to the fifth from the end in the binomial expansion of 
n

4

4

1
2

3

 
 

 
,

in the increasing powers of 
4

1

3
 be  4 6  : 1. If the sixth term from the beginning is 

4 3


, then  is equal to

___________.

ekuk 
4

1

3
 dh c<+rh ?kkrksa esa 

n

4

4

1
2

3

 
 

 
 ds f}in izlkj esa vkjaHk ik¡posa in dk var ls ik¡posa in ls vuqikr

4 6  : 1 gSA ;fn vkjaHk ls NBk in 
4 3


 gS, rks  cjkcj gS __________A

Ans. Official Answer NTA (84)

Sol.
   
   

n 4 4n 1/4 1/4 4
45

4 n 41/4 1/4
n 3 n n 4

C 2 3T 6

T 1C 2 3

 


 

 

n 8 n 8
1/44 42 3 6

 

 
n 86 6 

n 8 1 n 9    

   
4 59 1/4 1/4

6 5 4

84
T C 2 3

3

 

84 

Question ID : 100226

Matrices

26. The number of matrices of order 3 × 3, whose entries are either 0 or 1 and sum of all the entries is a prime

number, is ___________.

dksfV 3 × 3 vkO;wgksa, ftlds vo;o ;k rks 0 ;k 1 gSa rFkk lHkh vo;oksa dk ;ksx ,d vHkkT; la[;k gS] dh la[;k

__________A

Ans. Official Answer NTA (282)

Sol.

11 12 13

21 22 23 ij

31 32 33

a a a

A a a a a {0,1}

a a a

 
   
  
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ija 2,3,5,7
Total matrix = 9 9 9 9

2 3 5 7C C C C  

= 282

Question ID : 100227

Determinant

27. Let p and p + 2 be prime numbers and let 

   
     
     

p! p 1 ! p 2 !

p 1 ! p 2 ! p 3 !

p 2 ! p 3 ! p 4 !

 

    

  

Then the sum of the maximum values of  and , such that p and (p + 2) divide , is  ___________.

ekuk p rFkk p + 2 vHkkT; la[;k,¡ gSa rFkk  

   
     
     

p! p 1 ! p 2 !

p 1 ! p 2 ! p 3 !

p 2 ! p 3 ! p 4 !

 

    

  

gSA rks  rFkk ds vf/kdre ekuksa] ftlds fy, p rFkk (p + 2) , dks foHkkftr djrs gSa] dk ;ksx gS ____A

Ans. Official Answer NTA (4)

Sol.

P! (P 1)! (P 2)!

(P 1)! (P 2)! (P 3)!

(P 2)! (P 3)! (P 4)!

 

    

  

1 1 1

P!(P 1)!(P 2)! P 1 P 2 P 3

(P 2)(P 1) (P 3)(P 2) (P 4)(P 3)

      

     

2P!(P 1)!(P 2) !   

Which is divisible by P (P& 2) 

3, 1   

Question ID : 100228

Sequence & progression

28. If 
1 1 1 1 k

....
2 3 4 3 4 5 4 5 6 100 101 102 101

    
       

, then 34 k is equal to ___________.

;fn 
1 1 1 1 k

....
2 3 4 3 4 5 4 5 6 100 101 102 101

    
       

, gS] rks 34 k cjkcj gS _________A

Ans. Official Answer NTA (286)
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Sol.
1 1 1 k

..
2.3.4 3.4.5 100.101.102 101

   

4 2 5 3 102 100 2k
..

2.3.4 3.4.5 100.101.102 101

  
   

1 1 1 1 1 1 2k
..

2.3 3.4 3.4 4.5 100.101 101.102 101
      

1 1 2k

2.3 101.102 101
 

101 1
2k

6 102
  

34k 286 

Question ID : 100229

Set & Relations

29. Let S = {4, 6, 9} and T = {9, 10, 11, ....., 1000}. If A = {a
1
 + a

2
 + .....+a

k
 : k  N, a

1
, a

2
, a

3
, ....., a

k
  S},

then the sum of all the elements in the set T – A is equal to ___________.

ekuk S = {4, 6, 9} rFkk T = {9, 10, 11, ....., 1000}gSaA ;fn A = {a
1
 + a

2
 + .....+a

k
 : k  N, a

1
, a

2
, a

3
, ....., a

k

 S}rks leqPPk; T –  A esa lHkh vo;oksa dk ;ksx gS ___________A

Ans. Official Answer NTA (11)

Sol. S = {4,6,9}    T = {9,10,11..1000}

A{a
1
 + a

2
 +.....+ a

k
 :KN} & a

i
  S

Here by the definition of set 'A'

A ={a : a = 4x + 6y + 9z}

Except the element 11, every element of set T is of of the form 4x + 6y + 9z for some x, y, z  W

 T – A = {11}

Question ID : 100230

Circle

30. Let the mirror image of a circle c
1
 : x2 + y2 – 2x – 6y +  = 0 in line y = x + 1 be

c
2
 : 5x2 + 5y2 + 10gx + 10fy + 38 = 0. If r is the radius of circle c

2
, then  + 6r2 is equal to ___________.

ekuk js[kk y = x + 1 esa] o`Ùk c
1
 : x2 + y2 – 2x – 6y +  = 0 dk niZ.k izfrfcac c

2
 : 5x2 + 5y2 + 10gx + 10fy + 38

= 0 gSA ;fn o`Ùk c
2 
dh f=kT;k r gS] rks  + 6r2 cjkcj gS ___________A

Ans. Official Answer NTA (12)

Sol. Image of centre  1c (1,3)  in x – y + 1 = 0 is given by

1 1
2 2

x 1 y 3 2(1 3 1)

1 1 1 1

    
 

 



Question Paper With Text Solution (Mathematics)
JEE Main July 2022 | 29 July  Shift-1

Page No. 26

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

1 1x 2, y 2  

 Centre of circle  2c (2, 2)

 Equation of c
2
 be 

2 2 38
x y 4x 4y 0

5
    

Now radius of c
2
 is 

38 2
4 4 r

5 5
   

(radius of c
1
)2 = (radius of c

2
)2

2 48
10

5 5
     

2 48 12
6r 12

5 5
   


